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����� X � Y ���� �������� �������� n × n� ��������� ����� � ������ Z = X .Y
������ n × n� ��� ���

Zij =
n�

k=�

Xik .Ykj
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a b
c d
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e f
g h
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=
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ae + bg af + bh
ce + dg cf + dh
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���� ����� ���� ������ Zij ���������� ����������� �� n ����� �� ��������� ��������

��� Xik � Ykj ���� k = � . . . n� ���� � ������������ ���� �� ����� ���� Zij�
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X =

�
A B
C D
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� Y =

�
E F
G H
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Z = X .Y =

�
AE + BG AF + BH
CE + DG CF + DH
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XY =




a�� a�� b�� b��
a�� a�� b�� b��
c�� c�� d�� d��
c�� c�� d�� d��







e�� e�� f�� f��
e�� e�� f�� f��
g�� g�� h�� h��
g�� g�� h�� h��




=




a��e�� + a��e�� + b��g�� + b��g�� a��e�� + a��e�� + b��g�� + b��g�� z�� z��
a��e�� + a��e�� + b��g�� + b��g�� a��e�� + a��e�� + b��g�� + b��g�� z�� z��

z�� z�� z�� z��
z�� z�� z�� z��



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AE + BG
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Z = XY =
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A B
C D
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E F
G H
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AE + BG AF + BH
CE + DG CF + DH
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P� = A(F − H)�

P� = (A+ B)H�

P� = (C + D)E �

P� = D(G − E )�

P� = (A+ D)(E + H)�

P� = (B − D)(G + H) �

P� = (A− C )(E + F )�

X .Y =

�
AE + BG AF + BH
CE + DG CF + DH

�
=

�
P� + P� − P� + P� P� + P�

P� + P� P� + P� − P� − P�

�

P� + P� − P� + P�

= (A+ D)(E + H) + D(G − E )− (A+ B)H + (B − D)(G + H)

= AE + AH + DE + DH + DG − DE − AH − BH + BG + BH − DG − DH

= AE +✟✟AH +✟✟DE +✟✟DH +✟✟DG −✟✟DE −✟✟AH −✟✟BH + BG +✟✟BH −✟✟DG −✟✟DH

= AE + BG
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